6. Largest number which divides 856 and
936 leaving no remainder is HCF of 856
and 936

856) 936 (1
856
80) 856 (10
800
56) 80 (1
56
24)56 (2
_ 48
8)24 (3
24

X

.8 is largest number which on dividing
856 and 936 leaves no remainder.

7. To find greatest number which divides
615 and 963 leaving the remainder 6 in
each case is HCF of (615-6, 963-6) i.e.
609 and 957

609) 957 (1

609
348) 609 (1

348

261) 348 (1

261
87) 261 (3
261

X

87 is the largest number which divides
615 and 963 leaving the remainder 6 in

each case.
8. Greatest number that divide 400, 435
and 541 leaving 9, 10 and 14 as

remainder is HCf of (400-9),(435-10)
and (541-14) that is HCF of 391, 425
and 527

391) 425 (1
391
34)391 (11
374
17)34 (2
34

X

Now find HCF of 17 and 527

¢

17)327 (31
51
17
17

X

17 is the greatest number.
9. Longest tape in the Room is HCF of 960
cm, 900 cm and 720 cm
900) 960 (1
—900
60) 900 (15
900

X

Now

Now HCF of 60 and 720
60) 720 (12
- 720

X

60 cm is the longest tape which can
measure the dimensions of the room
exactly.
10. Maximum number of students who can
it in a bus is HCF of 180, 252 and 324.
180) 252 (1
180
72) 180 (2
144
36) 72 (2
72

X

Now HCF of 36 and 324
36) 324 (9
- 324
0

36 is the maximum number of
students who can sit in a bus.

Exercise 4.5

1. (i) Prime factors of
20=2x2x5
35=5x7
86=2x43

LCM2x2x 5% 7
20x 7=140
(i) Prime factors of
42=2x3x7
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86=2x43 4. (1) 54,81
LCM=2x3x7x43

=1806 3 | 54,81
(ii1) Prime factors of 3 |18 27
12=2x2x3
30=2x3x5 31 69
81=3x3x3x3 31 23
. LCM of 12, 30 and 2 2,1
81=2x2x3x3x3x3x5 1,1
=4x81x5
=1620 S LCM =3x3x3x3x2=162
(iv) Prime factors of (i) 117,221
120=2x2x2x3%x 5
50=2x5x%x5 3 117,221
. LCM of 120 and 50 3 39, 221
=2x2x2x3x5x%x5 13 13,221
=8x3x 25=600
(v) Prime factors of 17 1,17
220=2x2x5x11 1,1
440=2x2x2x 5x11
660=2x2x 5x%x 5x11 oo LCM =3%x3x13%x17 =1989
LCM of 220, 440 and 660 (iii) 224,280,336
=2x2x2x3x5x11
=1320 2 | 224,280,336
2. (i) Multiple of 4=4,8, 12, 16, 32.. 2 | 112, 140, 168
Multiple of 16 =16, 32, 48 5 56. 70, 84
LCMof4and 16 =16
(ii) Multiple of 7=7 14, 21, 28, 35.. 2 28,35, 42
Multiple of 28 = 28, 56,... 2 14, 35,21
LCM of 7 and 28 = 28 7 7,35,21
(i) Multiple of 24 = 24, 48, 72, 9.... 3 L5 3
Multiple of 72 = 72, 144,.... =
LCM 24 and 72 = 72. 3 5.1
(iv) Multiple of 36 = 36, 72, 108,...... L1
Multiple of 72 =72, 144,....
LCM of 36 and 72 = 72. S LCM=2x2x2x2x2x 7x3%x 5
(v) Multiple of 35 = 35, 70, 105,..... , =3360
Multiple of 105 = 105, 210.... 5. First find LCM of 12, 16, 20, 24
.. LCM of 35 and 105 =105
, 2 .2 3 2 | 12,16,20,24
3. () LCMof2“x3“and3x2
3 2 2 6,8,10,12
is27x 3 , , 2 3.4,5.6
(11) LCMof2x 3“x 5and2“ x 3 2 3,2’ 5’3
is22x 32 x5 3 3,1,5,3
(i) LCM of 2% x 7x 52 and 2x 7% x 3 5 1.1.5. 1
is22 x 72 x 5% x3 L1 11
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LDLCMis2x2x2x2x 3% 5
16x 3x 5=240
Greatest 4 digit number is 9999.
We divide 9999 by 240 and find the
remainder.

240) 9999 (41
960
399

240
159 ®
Smallest number which should be
subtracted from 9999 so that the
remaining number is exactly
divisible by 240 = 159
. 9999 -159=9840
First find the LCM of 6, 9, 12, 18

2 16,912, 18
2 13,9,6,9
3 13,9,3,9
3 11,3,1,3
L1,1,1

5. LCM=2x2x3x3=36

Least four digit number = 1000

We divide 1000 by 36 and find the
remainder

36) 1000 (27
~-72
280
~252

28

Least number which must be added to
1000 so that the sum exactly divisible by
36=36-28=38

Hence the required number is

1000+ 8 =1008

but on dividing by 6, 9, 12 and 18 leaves
remainder 3

.. Required number =1008 + 3=1011

. Smallest number exactly divisible by 12,

20, 24 and 32 is LCM of 12, 20, 24 and
32

12, 20, 24, 32
6,10, 12, 16
3,5,6,8
3,5,3,4
3,5,3,2
1,5,1,1
1L1,1,1

DN (W NN NN

.. Smallest number is
=2%x2x2%x2x2x3x5
=32x15=480

8. Smallest number which divided by 15,

20 and 25 leaves a remainder 5 in each

case is LCM of (15, 20, 25) plus 5

. LCM of 15, 20, 25

2 | 15,20,25
5 | 15,10,25
2 3,2,5
3 3,1,5
5 1,15

L1,1

.. Smallest number is
=(2x2x3x5x5)+5
=(12x25)+ 5=305

305 is the smallest number which

divided by 15, 20 and 25 leaves a

remainder 5 in each case.

Exercise 4.6

1. (i) HCFof3s,45
35)45 (1
35
10) 35 (3
30
510 (2
10

X

. HCF=5
LCM of 35, 45
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5 135,45 (i) 49,126
3 7,9 49) 126 (2
98
3 7,3 _
T 28)49 (1
A Y 28
1,1 21) 28 (1
. 21
= 5 X 63 21
=315 v
To prove LCM x HCF = Product of —
Numbers » HCF=7
315% 5=35x 45 .. LCM of 49, 126
- 1575=1575 Verified 7 49. 126
(i) 70, 120 7 718
70 17;(()) a 2 1,18
50) 70 (1 230 L9
50 3 1,3
20) 50 (2 1,1
40
20) 50 (2 =7x7Tx2x3%x3
40 =49x 18=882
10) 20 (2 To prove
20 HCF x LCM = Product of numbers
v 7x 882=49x 126
— 6174 =06174 )
.. HCF =10 . Verified
LCM of 70, 120 2. () 759
75)90 (1
2 70, 120 75
15)75 (5
2 | 35,60 75
2 35, 30 Tx
S 35,15 “. HCF of 75 and 90 = 15
3 7,3 LCM = ProductP(I)(f: r};urnbers
7 7.1 _75%90
I 15
B LCM =450
LCM =2x2x2x3x5x7x8x15x7 (ii) 105, 245
=840 _
To prove 105) 245 (2
HCF x LCM = Product of numbers 210
10x 840="70x 120 35)105 (3
8400 = 8400 105
Verified x
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HCF of 105 and 245 =35

LCM - Product of numbers
HCEF

3
_ 105x 245
35
LCM =735

(ii1) 145,232

145) 232 (1
145
87) 145 (1

87

58) 87 (1
58
29) 58 (2

58

X

HCEF of 145 and 232 =29

LCM = Product of numbers
HCF
5
_,}45 x 232
29
LCM =1160

LCM x HCF = Product of numbers

400 x HCF = 6400
HCF :@
400

HCF =16
As 129 is not the multiple of 21
two numbers can not have HCF
=21 and LCM = 129.

LCM x HCF = Ist number x IInd

number

560x 4 =28x 2nd number
80
_ 560x 4

=2nd number

7
80 =2nd number
LCM x HCF = 1st number x 2nd
number
LCM x 105=525x 945

5
LCM :M
105

=5x 945

LCM = 4725
(i) 25,65
25) 65 (2
50
15)25 (1
15
10) 15 (1
10
5)10 (2
10

X

HCF of 25 and 65=5
LCM of 25 and 65

5 | 25,65
5 513
13 1L13

1,1

LCM =5x 5x12=325
To prove

LCM x HCF =15 No.x 114 No,

325%x 5=25% 65
1625=1625 Verified
(i) 81,135
81) 135 (1
81
54)81 (1
4
27)54 (2
54

X

HCF of 81 and 135 =27
LCM of 81 and 135

_ 3 | 81,135
3 | 27,45
3] 915
3 3,5
5 1,5
1,1
=3x3x3x3x5
=81x 5=405
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To verify
LCM x HCF = 1st no. x 2nd no.
405x 27=81x 135
10935 =10935 Verified.

(i) 117,221
117)221 (1
117
104) 117 (1
104
13) 104 (8
104

X

HCF of 117 and 221 =13

LCM of 117 and 221
3| 117,221
3 | 39,221
13 | 13,221
17 1,17
1,1

=3x3x13x17=1989
To verify
LCM x HCF = 1st no. x 2nd no.
1989x 13=117x 221

25857 = 25857 Verified

(iv) 456, 836

HCF 0f 456 and 836 = 76

456836 (1
456
380) 456 (1
380
76) 380 (5
380
X
LCM of 456 and 836
2 | 456,836
2 | 228,418
2 | 114,209
3| 57,209
19 | 19,209
11 1,11
11

=2x2x2x3x19x11=5016

Mathematics—6 /4

To verify
LCM x HCF = Ist no. % 2nd no.
5016x 76 =456x 836
381216 =381216
(v) 300, 450
300) 450 (1
300
150) 300 (2
300

X

HCF of 300 and 450 =150
LCM of 300 and 450

2 | 300, 450
2 | 150,225
3| 75,225
3 25,75
25| 25,25
1,1

=2x2x3%x3x25=900
To verify
LCM x HCF = 1st no. x 2nd no.
900x 150=300x% 450
135000 = 135000
(vi) 576, 720
576) 720 (1
576
144) 576 (4
576

X

HCF of 576 and 720 = 144
LCM of 576 and 720

576, 720

- s =

288, 360
144, 180

72,90
36,45

18, 45
9,45

3,15
1,5

. - =

1,1

‘u] ‘w ‘u ‘l\) ‘M ‘l\) ‘M ‘l\) )

Verified

Verified

)



LCM=2x2x2x2x2x2x3x3x5 MCQs

:.2880 1. (a) 2.(a) 3.(b) 4.(a) 5.(c) 6. (c)
To verify
LCM x HCF = Ist no. x 2nd no. Mental Maths
2880 144 =576 720 1. Their product is LCM of two co-prime
414720 =414720 number.
Verified
8. 2. Yes

3. No, 23486 is not divisible by 11.
First | Second | HCF | Are |[LCM | a xb | HCF x

number | number they LCM 4. True. Prime factorisation of 36 is 2 x 3
(a) (b) prime? % 6
@ | 16 28 4 | no | 112 | 448 | 448 )
5. Factors of 24 is 1, 2, 3, 4, 6, 8, 12 and
(i) | 64 96 32 | no | 192 | 6144 | 6144 24
@) 13 » ! o | 435 | 435 | 435 6. Twin prime number. (5, 7) and (11, 13)
(iv)| 144 180 | 36 | no | 720 |25920 25920 Yes.
W) | 64 108 4 | 20 | 1728 6912 | 6912
5 Fractions
Exercise 5.1 4. @ 227 dand
Lo o e
(iv) —,—,—,— are like fractions
7777
(iii) (iv) 1 [ 5. Proper fractions are
| | ()2 (i) & ) (vi) (v 12 ()
3 7 8 8 15 7

im proper fractions are

5 9 230 021
2 G 21 (i1) s v) s (vii) 1 (ix) B
4 2 6. Mixed fractions are
6] 4l (ii1) 2z (vi) 2E (viii) 21
3 10 1 3 8 4 5
(i1) = 20 = 5 2 5
— R
6 A5 3 366
(iii) = P % 61
2 . 1
- (iii) /4’1%?: 5 @iv) % = 3
(iv) _2 5 1 3
[ 4 (V) ﬂ zé = l
240 24 3
- 3
3. (i) Unit fractions are 3
o1 o 1 N 270 _270 3
(ii) 2 (iii) o (vi) 360 360 4

‘ 28 A\ Mathematics—6



146 146+73 2

. 315
vil)) —=———— ==
) 365 365-73 s 8. W 2,35
81 27 9 3x5 15%x1
(viii) f{:j&;zizé T 7x5735x1
144 4 16 L5
35735

8. (1) Four equivalent fractions to 3 are

% 3 d15 valent
Ix2 2 Ix3 3 1x4 4 es;an gareequlvaen

3x2 6 3x3 9 3x4 12

alternate method

x5 5 E A
3x5 15 S 7 35
(i) Four equivalent fraction to — are 3x35=15%7
6 105 =105

5x2 10 5x3 15 Yes equivalent.

6x2 12°6x3 18’ ay .24
5x4 20 5x5 25 8715
6x4 2476x5 30 _ox15 24x8
. . 10 &x 15 15x 8
(iii) Four equivalent fractions toEare 75 192
10x2 20 10x3 30 1207120
13x2 26 13x3 39 Noéandﬁarenotequivalent
10x4 40 10x5 50 8 15
13x4 52'13x5 65 iy .7
37
(iv) Four equivalent fractions to 1—85 are 3x7 7x 3
8x2 16 8x3 24 377 7x3
15x2 30715x3 45’ 21 21
8x4 32 8x5 40 21 21

15x4 60°15x5 75

Yes 3 and ! are equivalent.
9. Match the equivalent fractions and write 3 7

two more for each. (iv) QE
.25 1 8 16
® 7 @ _6x2 12 1
160 3 8x 2’ 16x 1
(i) — (d) 12 12
480 4 = <
16 16
... 550 5 6 12
(i) 770 ©) Q Yes —,— are equivalent
8716 '
.. 190 1
(v) o 5 v) 15 28
) 220 5 _15x5 28x 2
1100 7 16x5° 402
(vi) 2 ! B 56
1000 2 R0 20
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11.

12.

13.

15

No — and 28 are not equivalent.
6 40

L 22 4

(vi) 70,2—0
_22x2 4x11
S 110x27 20x11
44 44
220 220

Yes 22 and 4 are equivalent,
110 20

7 Tx2 14
(i) f=o=
8 8x2 16
(ii) z=7><3=2
8 8x3 24
iy 1123 2
8 8x3 24
(iv) 1=TX53
8§ 8x5 40

(1) 20 paise is % of one rupee
(i) 35cmis 7 of one metre
20

.9
iii) 450 gis — of one k
(iii) gis g

(iv) 40 minutes is % of one hour.

Exercise 5.2

1.

g

Replace [_] by a correct number :
220 .4 12
) =="— i) —=—F—
® 5 50 (i 7 21
.. 6 2 .. 16 32
i) — == iv) — ===
()9 3 ()14 28
15 3 .45 15

V) —=— Vi) —=—
©) 70 14 ()12 4
.. 8 40 ... 3 33
vil)— = — viij) — ===
( )14 70 ( )11 55
.5 20
iX) = =—"—
()2 <
o7
L
(1) 3

N7

6

1o

Mixed fraction = 2%

.. 8
i) —
(i) s
5)8(1
S
3
. Mixed fraction of § = 1E
5 5
o 11
i) —
(iii) 5
9111
9
2
. Mixed fraction of E = 1g
9 9
. 21
iv) =
(iv) T
10) 21 (2
20
R
.. Mixed fraction of g = 2i
10 10
47
V PR
(v) 20
20) 47 (2
40
79
.. Mixed fraction of ﬂ = 2l
20 20
. 52
vi) =
(vi) 53
28) 52 (1
28
4
.. Mixed fraction ofg = 1ﬁ orl-=
28 28
... 53
vil) —
(vii) o
8) 53 (6
48
5

. Mixed fraction of 5—83 = 6%
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o 27
viil) —
(viii) »

N

\S}

~

NN
[l 3
~

J—

. Mixed fraction of g = 1i
22 22
2 () lg_1x3+2:§
3 3

3
3x4+3 124315
11

i) 3
w 4 4 4
Ix11+47 11+7 18

11 111
5x7+6_35+6 41

7 7 7
2x5+1_10+1_11

5 5 5
_6x11+1_66+1_67

3
7
i) 1
(ii1) .
. 6
v) 5—
(iv) Z
1
5
1
1

v) 2

4

(vi) 6

1 11 111
7 _10x10+7 _100+7 107
10 10 10 10
(viii) 16§:16><8+3:128+3:E
8 8
5 24
7<7
8 15 3
6 12 . 22 4
>— (iv) —>—
16
12 L 11 15
<— (vi) —<—
16 12 16
. 15 7
4. (1) —,—,—
® 18 18 12
LCMof 18, 18, 12 =36
:5><2,15><2,7><3
36
_10,30,21
36
10<21<30
*. Ascending order isi<l <E
18 12 18
.. 369
i =,=,—
W 5710
LCMof 5,7,10="70
~ 3x14,6x10,9x 7
70
_42,60,63

70

(vii) 10

(iii)

]
(v) g
5

Mathematics—6 /4

5.

42 <60 <63
". Ascending order is§<é <2
5 7 10
... 157
i) —,=,—
(i) 3609
LCMof3,6,9=18
_1x6,5x3,7x2
18
_6,15,14
18
6<14<15

". Ascending order is é <g < 3

6
L 4 7 8 1
1 SRR R R
® 51015 2
LCM of 5,10, 15,2 =30
_4x6,7x3,8x2,1x15
30
~24,21,16,15
30
24 >21>16>15

". Descending order is 4 > 7 > 18 > —1

15 2
i S0 7
3 4 6 2
LCM of3,4,6,2 =12
11x 4,13x3,19x 2,7x 6

12
~44,39,38,42
12
44 >42>39>38
.. Descending order isl—1>z >E >1—9.
32 4 6
i) 2,222
24 816

LCM of 2,4, 8,16 =16
1% 8,3x4,5%2,9x 1

16
~8,12,10,9
16
©12>10>9>8
. Descending order is é>é >2
8 16
1
>—.
2

"



2 32 8 CIx5+1Ix4+1x2

(i) Z=—=—
3 48 24 20
.. 3 9 24 5+4+2 11
(i) = =—=— - e
7 21 56 20 20
24
(iii) 6 _24_66 (vi) 15,1
11 44 121 4 8 12
vy 2=16__24 [*LCM of 4, 8 and 12 = 24]
3 24 36 CIx6+5x3+1x2
7. Passed in Maths:g B 24
Passed in English 2 _6+15+2 23
assed in Englis —g T4 oa

In Maths students done better 2. () 3 2 N 6—;

3.2
575
2 =3+§+6+—1
8. Gaurav Readgof 60
12 _ 3.1
=E><;60=24pages _(3+6)+[4+8j
5
ReenaReadéof80 —94 3x2+1x1
4 - 8
2 50
== x 80=60pages
V4 :9+(6+1j:9+7
Reena Read more pages. 8
Exercise 5.3 _o/
.3 7 3+7 10 8
1. (1) —_t—=—=— B 3 1
. 15 1+5 6
(i) —+=-=——=—
? ? —5+§+6+i
(iii) ,+,_4%85:% 8 10
@) g+ § [~-LCM of 3 and 8 = 24] Adding whole numbers
3 8 _ 3.1
2% 8+5x3 =G+6+ o+
24
_16+15 :11+§+1i
24 8 10
:ﬂ:ll :11+3x5+1x4
24 24
converting into mixed fraction. 15+ 4 19
(V) l+l+i =11+ =11+—=
475 70 o 40 40
[ LCM of 4, 5 and 10 = 20] =11—.
40
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1
i) 5+6-
(iir) ;

:5+(6+1j
7

=5+6+1=11+1
7 7

1

=11-

7
(iv) 21+1i+2l
11 22 33

:2+l+1+i+2+—
11 22

7

33

1

=(2+1+2)+(171++

7

22 33

[7>< 6+1x3+7x2
=5+

66

[42+3+14j
—5q| 12T
66

:5+i9:5i9
66 66

1 3
v) 2+1-—+3=
© 4 8

=2+1+1+3+E
4 8

:(2+1+3)+G+2j

)

6+[1X 2;—3>< lj

:6+ﬂ:6 é
8 8
_62
8

(vi) 71+21+41
2 3 6

:7+1+2+1+4+l
2 3 6

1

=(7+2+4)+(1++
2 3

Mathematics—6 /4

1
6

)

)

I1x 3+ 1x 2+1j

=13+ 6)
6
. =113+ - 14
S
3.1 2 1
T4 4 2
75
W 5%
7-5 2 1
T8 8 4
8
(i11) ﬁ_ﬁ
9-8 1
1
3
M %73
3x3-1x4
12
9-4 5
1212
7 5
™ %7
Tx3-5%x4
!
20-20 1
T4 24
. |
(vi) g—ﬁ
Sx11-1x 8
BT
55-8 47
T 88 88



() 37 _117x3-29x2
2 12 5
B 1 35158
2 12 i
il 293 (5
12 48 48
42 (vi) 7%_12
- 155 11
2 2
Giy 4> -7 155x 8- 11x 21
12 3 —T
-5 _1240-231
2 3 —
_53-7x4 w1
53 158 168 168
T2 5. () 7+(14_5j
23 46
251
EENE 7(14251
Qi)  5.-1° 46
58 ., 285
g 8 »
_47-11 i
8
11
_36_9_,1 AR
g8 2 2 R
~ 3 .1 () 5+6--5—
iv) 5=-2-— 7 14
(W) 523
_43 17 :5+6+1_(5+1)
8 8 7 14
_B-17 :5+6+—1—5—i
8 777 14
22632 51 :(5+6—5)+(1—1j
g8 8 4 7 14
(v) 73—1i _ Jr(1><2—1]
16 24 >
:%_g —6+i— 71
14 14
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3 .1

1
i) 4-—+2--1--
(i) 2 4 6

1

3

+24+4=—
4

25

12

etk

[ .

1
6

-3

Rl
12

Collecting whole numbers and fractions

—(4+2—1—2)+1 3. 1.5
2 4 6 12
Ix6+3x3—-1x2-5x%x1
=3+
( 12 j
:3+[6+9—2—5j
12

7

1 11

(iv) 9 +2--7——
15 5 30

:(9.;,. l
15

:9+l+2+——7
15 5

J+iH

{

1

2
25
7+ llj
30
3+ 2)
25
g2
30 25

Collecting whole numbers and fractions

=(9+2-7-3)+ (

7
15

Lu 2
5 30 25

150

(7>< 10+1x30—-11x 5-2x 6}
=1+

(70+30—55—12j
=4+ —

Mathematics—6 /4

150

100 - 67
=1+

150
B3

150 150

. Distance covered by Rashmi =% of a

kilometer

Distance covered by Seema :g of a

kilometer
Differencezé_éz 3x Z_SZE: 1

. Cloth used in Kurta = 21—70 metres

Cloth used in Salwar = 1% metres
Cloth used in these Clothes
:(27 + 13j metres
10 5
:(2+ l +1+ 3jmetlres
10 5

_ 7.3
_(2+1)+[10+ 5)

Tx1+3%x2
=34+ —
=)

[3 + ) metres

3+ jmetres

3+ 1) metres

3+1+ j metres

[
(
(3410 oo
[
[+

4+ j metres

4 metres

o“-”

)



8. Wheat bought 15% quintal

Maize bought 32l quintal

Gram bought 6% quintal

Total Cereals bought

:(151 + 31 + 63) quintals
2 4 5
_ 15+1+3+l+6+§ quintals
2 4 5

=(15+3+6)+(1+1+3)quintals
2 4 5

24+(1+1+3)

2 4 5
o4 Ix10+1x5+3x4
20

=24+ (W quintals
20

=24+ 27 quintals
20

=[24 + l7j=(24 + 1+ 7)
20 20

Cereals bought = [25 270) quintals
9. Height of Mohan = 140% cm

Height of Sohan = 138% cm

Mohan is taller than Sohan by

—140L _1383
5 4

6

Exercise 6.1
1. (i) 0.4 =decimal four

0

10.

MCQ
1.
Ment

1.
2.

=(140+ 1)—(138+3j
5 4
—140+ L _138-2
5 4

(140 — 1.3
= (140 138)+(5 4}

oy Ix4-3x%x5
20
=2+ ﬂ
20

( 11} 4011
=|2-—|cm = cm
20 20

Distance Rohit's house to school = 3 km
distance sumit's house to school

:(3+;jkm

_6+1 7

km =—km
2
(@) 2.(b) 3.(b) 4.(d) 5.(a)
al Maths

g is less than §
3 2

A fraction is a number representing a
part of whole.
mixed fractions represent a

proper/improper fractions.

10 hrs is what fraction of a day? g or El

12

3mm is what fraction of a metre? % .

Fractions having same denominators are
called like fraction.

Decimals

(i) 0.19 = decimal one nine
(iii) 0.37 = decimal three seven
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